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QID: 101 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Arafafa uy # Gy ow et & @ wy Rg
(?) & TS W A arelt FEAT H gRAT

39| 4
31 6
? 9
18 (13
Options:
1) 30
2)24
3)20
4) 25

Correct Answer: 24
Candidate Answer: 30

QID: 102 -
How many triangles are there in the given figure?

& a$ st 3 R Peger ¥7

Options:
1)8

2) 10
3)12

4)6
Correct Answer: 10
Candidate Answer: 8
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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘W' can
be represented by 02, 66, etc., and ‘R’ can be represented by 41, 89, etc.
Similarly, you have to identify the set for the word “STORK”.

ThH UAeq haol Th WEA-AE g/ gAAT IR R, Shr 75 fawedt # @
et v A e R faweul F Bu sv gwarwes R & & it
arr g are §, Sk fn e arw @Y sneyet & R eyel b TaEd 3R
ufes i dEar 0 @ 4 ¥ 3R e H 5 A 91 3 IYP A D AW
M ugal sah U AR ag # TaFw g=ar gRr o ST ghar B
3arAoT & faw W' B 02, 66, G GRT GRFT ST HHaT & A R @
41, 89, 3fe RT GRFAT ST ThaT §l AT dle & IUd uA A Ru ueq
“STORK” & foiw T @1 UegmEar &

Matrix-l Matrix-li

Jgg-l Jegg-l
0]|1]2(3]|4 516789
0|Z|C(W|G]| I S5|X|K[D|F|[R
1|KIM|[O|Q|S 6 |G|W[N|H|[V
2{U|W[Y|B|A T{E[O|Y[J|T
3|F|H|G|L|N 8|C|[F|[I|L|R
4|DIR[T|V]|O 9|K|S|[U[N|P

Options:
1) 14, 42, 12, 41, 10

2) 96, 79, 44, 32, 56
3) 20, 12, 69, 89, 10

4) 14, 42, 75, 59, 95
Correct Answer: 14, 42, 12, 41, 10
Candidate Answer: 14, 42, 12, 41, 10

QID: 104 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o 3R gfadl # ¥ 3@ I g & AT
S & uy sl Bfea ¥

N

|_
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Options:
1)

2)

K

3)

4)

Correct Answer:

Candidate Answer:

QID: 105 -
Which answer figure will complete the pattern in the
question figure?

B @ IR FPA Uy WPla F uldww FF @
FnN?
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Options:

N

2)

72

3)

4)

4—

Correct Answer:

4

Candidate Answer:

QID : 106 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IfE e IUUT F AB {@N W @ AW, ar & T
TR HHAAT A T dlad O Hpfa wF gl Hr

e ufafasa gefr?
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Options:
1)

2)

3)

4)

ol LSRG RES

Correct Answer:

o3

Candidate Answer:

o3

QID : 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ F uy dpladl # RE@W WgER FES @
Az D JUT Wheld & ag I FT 3R e
s femrg gem?

] =
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Options:
1)

[

2)

—
| 1 |

3)

10

4)

10

Correct Answer:

| S—

Candidate Answer:

—

QID : 108 - If 'A' means '+', 'B' means -, 'C' means '+' and 'D' means 'x', then
42A6D9C18B2="?
fe 'A' T 3 '+, 'B T 3 ', 'C T HY '+ T 'D' 7 3 x g, ar

42A6D9C18B2="7?
Options:

1) 49

2) 55

3) 69

4) 43

Correct Answer: 43
Candidate Answer: 69

QID:109-1f17@4C6 =15and 16 @ 11 C10 = 17, then
4@6C2=>?
IE17@4C6=15Tr16 @ 11 C10 =178, ar

4@6C2="?
Options:

1) 10

2)8

3) 16

4) 24

Correct Answer: 8
Candidate Answer: 8
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QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Roast
2. Roman
3. Robber
4. Roaland
5. Roster

TeeAaTEe Areal Y QTeeehier # 3T ATel Tl & AR ford|

1. Roast
2. Roman
3. Robber
4. Roaland
5. Roster

Options:
1) 14325

2) 14352
3) 43125

4) 41325
Correct Answer: 41325
Candidate Answer: 14325

QID : 111 - In the following question, select the missing humber from the given series.
19, 23, 32,48, 73,?
TerAfald weat & U a1v fashedl & § oo 37 AT Hioiv|

19, 23, 32, 48,73, ?
Options:

1) 130

2) 119

3) 132

4) 109
Correct Answer: 109
Candidate Answer: 109

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
OP, RS, VW, AB, ?
TS 3eTehat T a1 8, foreet & v e ded ¢ v 1w faewet 7 & 95 e fawew g, St sngwma O |

OP, RS, VW, AB, ?

Options:
1) GH

2)1
3) KL

4) FG
Correct Answer: GH
Candidate Answer: FG

QID : 113 - In the following question, select the odd word from the given alternatives.

Tt weat # U ¢ fashoul & & fawar sg &1 giAv|
Options:

1) Cup

Eaeg

2) Plate

T

3) Spoon

gFAT

4) Bread

33

Correct Answer: Bread

£

Candidate Answer: Bread

EE
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QID : 114 - In the following question, select the odd number pair from the given alternatives.
TF=Te e weat # U 91C fashout & & fawer dear go9d &1 v
Options:
1) 9-36
2)8-56
3)6-42
4) 4-28
Correct Answer: 9-36
Candidate Answer: 9-36

QID : 115 - In the following question, select the odd letters from the given alternatives.

TrAfafld weat & U arv fashedt & @ fawer 37wl &1 giaw)

Options:
1) JHG

2) NLK
3) RPO

4) AZX
Correct Answer: AZX
Candidate Answer: RPO

QID : 116 - Identify the diagram that best represents the relationship among the given classes.

Pen, Stationery, Cap
I 3@ AT S A T 7T F3it & e & Feer e HEI0T HH 5

FAHA, d@ AT, 2t

Options:
1)

2)

@3

3)

©)o

4)

Correct Answer:

©)o

Candidate Answer:

Cp

Download More Paper$)From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID : 117 - In the following question, select the related word from the given alternatives.

White : Colour : : Shirt: ?
AT weat # 7T 10 fashoul & & Hefera esg &1 giav|

g : W FwAlT: ?
Options:

1) Garment

a

2) Stich

Rt ¢

3) Button

§cel

4) Collar

GOty

Correct Answer: Garment
g

Candidate Answer: Garment

a¥

QID : 118 - In the following question, select the related number from the given alternatives.
100:10000:: 20: ?

TrAfafed weat & v 1w fashedl & & Heiftid dear &1 giav
100:10000::20:7?

Options:

1) 40

2) 30

3)45

4) 400

Correct Answer: 400
Candidate Answer: 400

QID : 119 - In the following question, select the related letters from the given alternatives.
OPQR: ABCD:: QRST:?

TerAfafld weat # U a1v fashet & & Heiftrd 3R 1 giav

OPQR: ABCD::QRST:?

Options:

1) ABPQ

2) CDFE

3) CDEF

4) TSRQ
Correct Answer: CDEF
Candidate Answer: CDEF

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.

PREDICAMENT

TreteEd fashoutl 3 & g oreg AT ST 8T 1T 2reg; & 3R T FHNT 7k LT S=A1dT S Hehell|
PREDICAMENT

Options:

1) DICE

2) MATE

3) TEAM

4) RAIL
Correct Answer: RAIL
Candidate Answer: RAIL

QID : 121 - In a row of students, Amit is 33" from top and 16t from bottom. How many students are there in the row?

T Y Tk diFd H, AT FH A 33-af AT A & 16-af &1 4Fd H FeT fhclel oI5 o1 §2
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Options:
1) 48

2) 49
3)52

4) 51
Correct Answer: 48
Candidate Answer: 48

QID : 122 - T walks 17 km towards west. He turns right and walks 15 km. He turns right and walks 17 km. How far (in km) is he from his starting point?

T uRes &1 3] 17 BR.30. =i §1 g &l 3R aggar § 4T 15 .3 o §1 a8 ardi 3% 3o § a2 17 TR, Tefdr §1 98 319eT 3R fowg I foherel g3r (.
A wWE?

Options:

1)15

2)17

3)32

4) 53
Correct Answer: 15
Candidate Answer: 32

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. AR are S.
IL. All L are R.

Conclusions:
ILAIR are L.
II. All L are S.

A T 1T 99 A Fo Y 3R 3eTh qe; 37 HYA W IR $o fAvhy T 710 , gTelifeh 3787 Gy +A1et eall & Beaie gf Feheht §1 Tl fosehy u& 3k e
it ¥ % T aw &ley & vy, fw 1w Feet & 3mar o gieaserd 8

Y
La@MR, Sl
IL. T3fr L, REI

forse:

LR, LEI

IL. @ L, S €l

Options:

1) Only conclusion (I) follows.

g sy (1) TE ¢

2) Only conclusion (II) follows.

Fraret s (1) &8 1

3) Both conclusion follow.

et & fshy @@ §

4) Neither conclusion (I) nor conclusion (II) follows.
o oY e (1) =1 & s (1) &y &1

Correct Answer: Only conclusion (II) follows.

Faer fasHy (1) T &1
Candidate Answer: Both conclusion follow.

grr &Y sy wEr B

QID : 124 - In a certain code language, 'soil’ is written as 'glass’, 'glass’ is written as 'wood’, 'wood' is written as 'grass’, 'grass' is written as 'pink' and
'pink’ is written as 'yellow'. What do horse eat as per the code?

T fAfRISe His 19T &, "HET T FE, T F GEI, TSI F AW, G FH AR TAT e F drar O S §) His & TR 9T st #7297 9T 8?
Options:

1) grass

IR

2) pink

peici

3) yellow

e

4) glass

o)
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Correct Answer: pink
EIcicil

S
Candidate Answer: pink
EIciC)

)

QID : 125 - In a certain code language, "POLE" is written as "45" and "KICK" is written as "31". How is "FAIR" written in that code language?

s f3flrse s 9T 7, "POLE" &1 "45" F2r "KICK" &t "31" for@r Sirar &1 59 sis $7TwT & "FAIR" Y a0 yehR forar siroam?
Options:

1)28

2) 25

3) 33

4) 31
Correct Answer: 31
Candidate Answer: 28

QID : 126 - What is the highest common factor of (7/11) and (35/55)?

(7/11) AT (35/55) FT AGcad THTIGH FT &7
Options:

1) 7/55

2) 7/62

3) 1/11

4) 6/23
Correct Answer: 7/55
Candidate Answer: 7/55

QID : 127 - For what value of B, 2B06 is completely divisible by 9?

B & ford AT & forw 2B06, 9 & quiar: fastmswr &2
Options:

1)3

2)2

3)1

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 128 - What is the unit's digit of 224712

22471 &1 geptS 3R FAT E?

Options:

1)2

2)4

3)8

4)9

Correct Answer: 8
Candidate Answer: 2

QID : 129 - What is the least common multiple of 16, 40 and 64?

16, 40 TUT 64 HT TcTH FATIGY FT 82
Options:

1) 256

2) 320

3) 384

4) 512
Correct Answer: 320
Candidate Answer: 512

QID : 130 - What is the value of (3.2 + 2.5)2 = (3.2 — 2.5)2?

(3.2 + 2.5)2 - (3.2 — 2.5)2 &7 AT FATE?

Options:
1) 32.98
2)33
3) 34.11
4) 32
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Correct Answer: 32
Candidate Answer: 32.98

QID : 131 - Which of the following statement(s) is/are true?

L (7/9) > (6/8)
I (9/5) > (7/4)

Afaf@d & @ Sl ar/d Fua g7 /8?2

1.(7/9) > (6/8)

1I1. (9/5) > (7/4)

Options:

1) Only I

hal

2) Only II

el 11

3) BothIand II

I @2 I gt

4) Neither I nor II
FANIALI

Correct Answer: Both I and II
I 2 11 gt

Candidate Answer: Both I and II
I 2 11 axAt

QID : 132 - Three taps A, B and C can fill a tank in 180, 20 and 90 minutes respectively. If all the taps are opened together, then in how many minutes will the tank
be filled?

e Tl A, B dUT C T&h Tl &l shAel: 180, 20 2T 90 fAeIe # #1X ¥ohd ¢ | Ife Tt el &l U A1y @i fam oI, af &bt forder fete # R arefi?

Options:

1) 15

2) 25

3) 30

4) 35

Correct Answer: 15
Candidate Answer: 30

QID : 133 - A pipe can fill a tank in 12 hours. Due the leak in its bottom, the tank is filled in 16 hours. If the tank is full, then that leak can empty the tank in how
many hours?

T 189 T Teh Y 12 € H 3 WeheTl ¢ | T & el 7 DG glel o HIROT, Tl 16 B¢ 3 ol &1 AT Shr ol oY 81, aff a5 B¢ T ! FohcTat €5¢ 31 WTell X WeheT 2

Options:

1) 60

2) 52

3) 48

4) 65

Correct Answer: 48
Candidate Answer: 48

QID : 134 - What is the area (in cmz) of a triangle having sides 5v5 cm, 10 cm and 15 cm?

5v5 @37, 10 {3, T 15 A7, 3o arer Fager 1 avAher (F.30.2 ) T §?

Options:
1) 25v5

2) 30V5
3) 205

4) 225
Correct Answer: 25v/5
Candidate Answer: 25V5

QID : 135 - A profit of 25% is made after giving a discount of 5% on an article. If the marked price of the article is Rs 2625, then what is its cost price (in Rs)?

Teh G T 5% T T &1 & RN 25% T A1 Il §1 Afe; I 1 3HTehcl Fed 2625 % ¥, o 3T 30 77 (3 H) F41 87

Options:
1) 2075

2) 2135
3) 2025

4) 1995
Correct Answer: 1995
Candidate Answer: 2135
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QID : 136 - An article has marked price of Rs 8000 and is available at a discount of 20%. The shopkeeper gives another discount to the buyer and sells the article
for Rs 5440. What is the second discount (in %) offered?

T GE] T 3R 7o 8000 T § AT 20% HT T T 3T ¢ | GHGR e I Tk AR T ST § T a&] i 5440 T 3 997 & §1 g8 IR &Y 715 BT (% )
ettt &2

Options:

1) 15

2)20

3)25

4) 30

Correct Answer: 15

Candidate Answer: 15

QID : 137 - Incomes of X and Y are in the ratio 7 : 8. Their expenditures are in the ratio 4 : 5. If both save Rs 960 at the end of the month, then what is the income
(in Rs) of X?

X TUTY 1 3 7 2 8 & U H &1 3eTeh o4 4 1 5 & 37U H &1 I Al ATE o 37l & 960 T T Il il &, Al X T 3 (3 H) 7741 82
Options:
1) 2240
2) 2560
3) 1280

4) 1600
Correct Answer: 2240
Candidate Answer: 1280

QID : 138 - If 4.5 of a = 6.5 of b, then what is a : b?

gfeaF45=bF6.58, dra:bFarg?

Options:
1)10:13

2)13:9
3)13:5

4)5:9
Correct Answer: 13 : 9
Candidate Answer: 10 : 13

QID : 139 - The average weight of a class is 36 kg. If a student with weight 15 kg joins the class, then new average weight becomes 33 kg. How many total
students are there in the class?

Teh haTl 1 AT X 36 6,317, ¥ Ffe woh 15 6,317, 81 aTell ST el & AT &1 ST, ol 7727 3Rcl=l $7R 33 6.3, g1 ST & | Tl  Fel vl ST &2
Options:

1)5

2)6

3)8

4)9

Correct Answer: 6

Candidate Answer: 5

QID : 140 - An article was sold at 21% gain. Had it been sold for Rs 640 more, then the gain would have been 37%. What is the cost price (in Rs) of the article?

Teh aE] I 21% 1 TR ST AT AR 640 T & 3T Hed WX 38 941 AT, TF 37% 1 1 gl | a6 1 v Hod (T H) 7 82

Options:

1) 6250

2) 4000

3) 5700

4) 6500

Correct Answer: 4000

Candidate Answer: 4000

QID : 141 - An article is sold at a loss of 20%. If the selling price is doubled, then what will be the profit percentage?

waﬁgas’rzo%@rgrﬁrwamm%l i, Taohg e QLT ] fe ST, ot SreT Gfeered &4 glam?
Options:

1) 160

2) 100

3)60

4)37.5

Correct Answer: 60

Candidate Answer: 100
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QID : 142 - A number is increased first by 10% and then it is decreased by 20%. What is the percentage change in the number?

Teh TEAT T Ugel 10% I FGIAT ST & 7T foh 38 20% & germ Srar g | mﬁmﬁzmqﬁaéﬂgm%?
Options:

1) 12% increase

12% 1 gfg

2) 12% decrease

12% 1 et

3) 32% increase

32% # 3%

4) 32% decrease

32% T FHHT

Correct Answer: 12% decrease
12% T AT

Candidate Answer: 12% decrease
12% &Y ey

QID : 143 - Two numbers are 20% and 5% less than a third number. First number is what percent of the second number?

a1 TV U e T & FAA: 20% TAT 5% FA ¢ Tgell SET, GA HEAT F kel Tioerd §?

Options:
1) 89.23
2)93.11
3) 84.21
4) 87.38

Correct Answer: 84.21
Candidate Answer: 93.11

QID : 144 - The downstream speed of a boat is 65 km/hr and the speed of current is 5 km/hr. What is the total time (in hours) taken by the boat to cover 220 km
upstream and 130 km downstream?

TRl T 1 aTfe T & 31Tkt 65 foh. Y. /€T § T ey sy atfey 5 fo . /eieT &1 4T & faodier 220 R, TUT GRT o 3fefeher 130 oR.#T. T gt o el A A1 @y
Fel fehctaTT Ha (uiet #) foram SRem?

Options:

1)5

2)6

3)8

4) 10
Correct Answer: 6
Candidate Answer: 6

QID : 145 - A man goes to a place at a speed of 50 km/hr and comes back with a different speed. If the average speed is 75 km/hr, then what is the return speed
(in km/hr)?

TS cgfd 50 foh.#./ger & a1fa & FhdT Tk TATe W 1T § 207 T o=t A1fa & araa 3rar &1 3l st a1fa 75 fos. . /ger &, ar aro 3ma @ afar (. . /ger #)
FATE?

Options:

1) 125

2) 180

3) 160

4) 150

Correct Answer: 150
Candidate Answer: 125

QID : 146 - What is the compound interest (in Rs) on a sum of Rs 10000 for 2 years at the rate of 5% per annum compounded annually?

10000 ¥ & FLT W 5% T 1fieh ax R aTfies Haletet ¥ 2 au 7 Thglg saTeT (¥ ) T §?

Options:

1) 1000

2) 1025

3) 1500

4) 1250

Correct Answer: 1025

Candidate Answer: 1025
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QID: 147 -
The pie chart given below shows the number of
students who like the 6 given colours. The total
number of students is 900.

A fGr v g9 Ry & v 71w 6 T Fr gue
FT T OIS hr FE&AT FHT AT FAT g BIEAT FHY
T wE&ar 900 Bl

Blue/
Green/
e, 18°
' g, 72°
Pink/
o Yellow/
?Flﬁﬁ, 90
dreT, 36°
Violet/
daret, 72° Red/
oTel, 72°

What is the average number of students who like blue, green and yellow colour?

A, & TUT el [T GHE e arer S 3T TET 4T 27

Options:
1) 126

2) 300
3) 105

4) 378
Correct Answer: 105
Candidate Answer: 126

QID: 148 -
The pie chart given below shows the number of
students who like the 6 given colours. The total
number of students is 900.

A= fGr v g9 R & v 71w 6 T Fr gwe
FT TTer OIS hr HEAT T AT TAT g1 BTEAT HHY
T B 900 Fl

Blue/
Green/
e, 18°
&, 72°
Pink/
o Yellow/
W, 90
dreT, 36°
Violet/
daret, 72° Red/
oTet, 72°

What is the difference between the number of students who like blue colour and those who like red colour?
AT [T ITE A aTel AT SATel T GHE Fle aTel BTAT T HEIT F FET 3 F4T 872
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Options:

1) 54

2) 135

3)45

4) 30

Correct Answer: 135
Candidate Answer: 54

QID: 149 -
The pie chart given below shows the number of
students who like the 6 given colours. The total
number of students is 900.

A Re av g7 R & e v 6 T Fr 9w
FTA dre SIS T GEAT FT AT AT g1 ST Hr
T wE&Ar 900 Bl

Blue/
Green/
&relT, 18°
' g, 72°
Pink/
o Yellow/
W, 90
dreT, 36°
Violet/
daret, 72° Red/
oTeT, 72°

What is the total number of students who like pink, red and blue colour?

T[T, SITeT CTT =Trell {37 GHe; shiet aTel ST T el HEAT T 87

Options:
1) 250

2) 400
3) 450

4) 540
Correct Answer: 450
Candidate Answer: [ NOT ANSWERED ]
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QID: 150 -
The pie chart given below shows the number of
students who like the 6 given colours. The total
number of students is 900.

A fGr v g9 Ry & v 71w 6 T Fr gue
FT T OIET hr FE&AT FHT AT F&AT g1 BIET FHY
T FE&Ar 900 Bl

Blue/
Green/
e, 18°
’ g, 72°
Pink/
6 Yellow/
ﬂ?ﬂ'«ﬁ, 90
e, 36°
Violet/
dret, 72° Red/
oTeT, 72°

What is the ratio of number of students who like violet colour to the number of students who like blue and yellow colour?

§ITA 3T 4EE e dTel STAT hT HEAT T et TUT el TT 3l GHE el dTel DTAT T FEAT  FAT T 82
Options:

1)4:1

2)1:2

3)4:3

4)2:3

Correct Answer: 4 : 3

Candidate Answer: 4 : 3

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Beijing has to aggressively woo the countries (1)/ rich on energy resources, which also represent (2)/ emerging markets for Chinese products. (3)/ No error (4)
Options:
1)1

2)2
3)3

4)4
Correct Answer: 2
Candidate Answer: 1

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

There is increased sophistication of hacking tools that are openly available (1)/ to the public on the Internet, and there are (2)/ increasing damages being caused
by viruses. (3)/ No error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 4

Candidate Answer: 4

QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He for a morning walk daily.
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Options:
1) go

2) want
3) gone

4) goes
Correct Answer: goes
Candidate Answer: gone

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Iam 'Harry Potter'.
Options:

1) reads

2) have read

3) read

4) reading
Correct Answer: reading
Candidate Answer: read

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Wander
Options:
1) Stay

2) Deviate
3) Fun

4) Lock
Correct Answer: Deviate
Candidate Answer: Lock

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Predicament
Options:

1) Plight

2) Solution

3) Advantage
4) Truth

Correct Answer: Plight
Candidate Answer: Advantage

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Acute

Options:

1) Slow

2) Sharp

3) Dense

4) Obtuse
Correct Answer: Sharp
Candidate Answer: Obtuse

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Rapture
Options:
1) Calmness

2) Bliss
3) Cheer

4) Elation
Correct Answer: Calmness
Candidate Answer: Cheer
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QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Flee

Options:

1) Submit

2) Avoid

3) Blow

4) Depart
Correct Answer: Submit
Candidate Answer: Avoid

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Combative

Options:

1) Peaceful

2) Cussed

3) Energetic

4) Militant
Correct Answer: Peaceful
Candidate Answer: Energetic

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Crash and burn

Options:

1) To fail completely

2) To deceive

3) To gamble

4) To waste
Correct Answer: To fail completely
Candidate Answer: To gamble

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Cost an arm and a leg

Options:

1) Extremely expensive

2) Working all night

3) Very cheap

4) Paying for useless thing
Correct Answer: Extremely expensive
Candidate Answer: Working all night

QID : 163 - Improve the bracketed part of the sentence.

Here is one (another) opportunity for aspirants to grab for better prospects.
Options:

1) more

2) other

3) each

4) No improvement
Correct Answer: more
Candidate Answer: more

QID : 164 - Improve the bracketed part of the sentence.

A personal interview (have to be) conducted to check interpersonal skills of the candidate.
Options:

1) can to be

2) may to be

3) has to be

4) No improvement
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Correct Answer: has to be
Candidate Answer: No improvement

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Give Tit for Tat
Options:
1) Retaliate

2) Retreat
3) Resurrect

4) Reprise
Correct Answer: Retaliate
Candidate Answer: Retaliate

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

An instrument for measuring body temperature
Options:
1) Barometer

2) Thermometer
3) Ammeter

4) Kilometer
Correct Answer: Thermometer
Candidate Answer: Ammeter

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Courious

2) Cuorious
3) Curious

4) Cureious
Correct Answer: Curious
Candidate Answer: Curious

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Voge

2) Vogue
3) Wogue

4) Vougue
Correct Answer: Vogue
Candidate Answer: Vogue

QID : 169 - Rearrange the parts of the sentence in correct order.

Everyone should respect
P: others while driving or
Q: take care of their safety
R: walking on the road and
Options:

1) PRQ

2) QRP

3) QPR

4) RQP

Correct Answer: PRQ
Candidate Answer: RQP

QID : 170 - Rearrange the parts of the sentence in correct order.

Tolerance is considered

P: as a good quality of

Q: important to make a society
R: a man and it is most
Options:

1) PRQ

2) QRP

3) QPR

4) RQP
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Correct Answer: PRQ
Candidate Answer: PRQ

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Deforestation is said to be of the main causes of shortage of rainfall that leads drought. Adequate amount of trees and vegetation is required on
to limit evaporation of water, store enough water on land and attract rainfall. Deforestation and construction of concrete buildings in their place have caused
a major disbalance in the environment. It the capacity of the soil to hold water and increases evaporation. Both these are a of low rainfall.
to be of the main
Options:
1) one
2) none
3)all
4) some

Correct Answer: one
Candidate Answer: all

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Deforestation is said to be of the main causes of shortage of rainfall that leads drought. Adequate amount of trees and vegetation is required on
to limit evaporation of water, store enough water on land and attract rainfall. Deforestation and construction of concrete buildings in their place have caused
a major disbalance in the environment. It the capacity of the soil to hold water and increases evaporation. Both these are a of low rainfall.
that leads drought.
Options:
1) of
2) to
3) for
4) on

Correct Answer: to
Candidate Answer: for

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Deforestation is said to be of the main causes of shortage of rainfall that leads drought. Adequate amount of trees and vegetation is required on
to limit evaporation of water, store enough water on land and attract rainfall. Deforestation and construction of concrete buildings in their place have caused
a major disbalance in the environment. It the capacity of the soil to hold water and increases evaporation. Both these are a of low rainfall.
required on to limit
Options:
1) sea
2) water
3) land
4) air

Correct Answer: land
Candidate Answer: water

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Deforestation is said to be of the main causes of shortage of rainfall that leads
to limit evaporation of water, store enough water on land and attract rainfall. Deforestation and construction of concrete buildings in their place have caused
a major disbalance in the environment. It the capacity of the soil to hold water and increases evaporation. Both these are a of low rainfall.

drought. Adequate amount of trees and vegetation is required on

It the capacity
Options:

1) highers

2) increases

3) rises

4) lowers
Correct Answer: lowers
Candidate Answer: increases
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QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Deforestation is said to be of the main causes of shortage of rainfall that leads drought. Adequate amount of trees and vegetation is required on
to limit evaporation of water, store enough water on land and attract rainfall. Deforestation and construction of concrete buildings in their place have caused
a major disbalance in the environment. It the capacity of the soil to hold water and increases evaporation. Both these are a of low rainfall.
a________ oflow rainfall.
Options:
1) result
2) incentive
3) effect
4) cause

Correct Answer: cause
Candidate Answer: effect

QID : 176 - A country or state which imposes no tax or very low tax is known as

CHT &7 AT I i1 T X 3T TG ool T T A9 Tl &, FEll & 1
Options:

1) Tax Tourism

&Fw eRew

2) Tax Terrorism

¢ ReH

3) Tax Haven

& gaeT

4) Tax Keeper

T AR

Correct Answer: Tax Haven
¢ gaeT

Candidate Answer: Tax Keeper

& frR

QID : 177 - Under HRIDAY scheme which of the following city is NOT included?

ST ANoTall & ded [Ae=TTai@d H & PiT IT 2T fder 71ei &2

Options:
1) Varanasi
qRTOTT

2) Madurai

X

3) Puri
B
4) Amravati

3T

Correct Answer: Madurai

G

Candidate Answer: Amravati

3FRTEAT

QID : 178 - How many articles were there originally in Constitution of India?

AT T § AR & Hiqulel & fohedal ifesg 47
Options:

1) 444

2) 397

3) 395

4) 398
Correct Answer: 395
Candidate Answer: 395

QID : 179 - Who was the chairman of Drafting Committee of Indian Constitution ?

AR AT S AHter afAfa & sreaet sl 22
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Options:
1)pDr Rajedra Prasad
ERUS AT
2) Dr Bhimrao Ambedkar
37 31T 3FeE
3) Sardar Patel
HER 9eel
4) C Rajgopalachari
o TSIy
Correct Answer: Dr Bhimrao Ambedkar
37 3fle 1T 3FaEa
Candidate Answer: C Rajgopalachari

Y TSTIMATATIRY

QID : 180 - Who is considered as the chief architect of Taj Mahal?

TSTHE T HET AP TREr ATAT JATT 87
Options:

1) Ajmal Khan

3oTHA Wlel

2) Mohammad Khan

HigFAg @il

3) Ahmad Lahauri

3G BT

4) Ahmad Khan

HgHAG il

Correct Answer: Ahmad Lahauri
3EHAS BT

Candidate Answer: Mohammad Khan

HAlgFAg @il

QID : 181 - Which of following ruling dynasties has not been mentioned in the Sangam literature?

A Hifecd # fAafai@a # & fFg Uaiaer &1 3eo@ o181 foham I 87
Options:

1) Chola

arel

2) Chera

Gry

3) Pandya

sy

4) Kadamba

Fed

Correct Answer: Kadamba
Fed

Candidate Answer: Pandya
qrosg

QID : 182 - A landmass bounded by sea on three sides is referred to as

et T T W e Teh 8787197 Y & & ST S 81
Options:

1) Coast

dc

2) Island

Gk

3) Peninsula

red

4) Plateau

o

Correct Answer: Peninsula

CIpGeie

Candidate Answer: Coast
dc

QID : 183 - The Western Ghats are also known as

e g Fr T ¢ ST ST B
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Options:
1)pHimaIaya
AT
2) Sahyadri
e
3) Vindhyachal
earae
4) Annamudi
3eeTTHET

9
Correct Answer: Sahyadri
Ege
Candidate Answer: Vindhyachal
foeaTae

QID : 184 - Which of the following vitamins is responsible for blood clotting?

ToIo=T # & FleT T [GeIfAe Wod & ¥ & fov SFaAgr 2
Options:

1) Vitamin C

aorf@e @

2) Vitamin D

erfd=r &

3) Vitamin E

@ §

4) Vitamin K

faaf@e K

Correct Answer: Vitamin K
ferfae K

Candidate Answer: Vitamin K
afasT K

QID : 185 - Kidney stones are mainly formed by which of the following compound?

e i Tl e 9 & FAtarea # § e i & g §
Options:

1) Calcium Silicate

Fiowgw Afase

2) Calcium Oxalate

Fiorrge 3itarsioe

3) Calcium Chloride

FioH FelRgs

4) Calcium Oxide

Fiorrae 3ifrass

Correct Answer: Calcium Oxalate

SHioraH 3fFstore

Candidate Answer: Calcium Oxalate

SHioraH st

QID : 186 - Who described DNA double helix?

AuAT e Rfoerd & ot fohas) foram?
Options:

1) Friedrich Miescher

hERe fAR

2) James Watson

I drcHeT

3) Francis Crick

wired forem

4) Both James Watson and Francis Crick
S dfedsT 3R wifaw e gt
Correct Answer: Both James Watson and Francis Crick
Sy dicds AR wifad o gt o
Candidate Answer: [ NOT ANSWERED ]

QID : 187 - Pick out the scalar quantity from the followings.

P & e TR
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Options:
1) Force
el
2) Acceleration
caRor
3) Work
HH
4) Velocity
I
Correct Answer: Work
HIH
Candidate Answer: Acceleration
aloT

QID : 188 - Which of the following is the hardest metal?

AT e & & T Tl R o1 87
Options:

1) Gold

|t

2) Iron

T

3) Platinum

wifeaHm

4) Tungsten

cIee

Correct Answer: Tungsten
[rzo )

Candidate Answer: Iron

L

QID : 189 - Microprocessors as switching devices are for which generation computers?

Teaffr fBarsa & &7 7 AHHAE fFa e & Heged & fav §?
Options:

1) 1st Generation

ol Wi

2) 2nd Generation

ga{r 9ér

3) 3rd Generation

redr gy

4) 4th Generation

iy iy

Correct Answer: 4th Generation

ey drér

Candidate Answer: 3rd Generation

ey iy

QID : 190 - During oxidation process electrons are

HTFERIOT UTRAT o GRIT Solagisli T EcT &1
Options:

1) gained

ared

2) lost

afa

3) paired up

FIAA

4) None of the option is correct.
F1$ off oo FY G B
Correct Answer: lost

affar

Candidate Answer: gained

e

QID : 191 - Which transitions are studied by UV Spectrometer?

g o eI SanT fog Ufshar T 3reareT fanam Sirar 82
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Options:
1)pRotationaI
LTS
2) Electronic
EREUDED
3) Nuclear
ATfRrT
4) Vibrational
FHYeT

Correct Answer: Electronic
ECEEIEy
Candidate Answer: Electronic

ESEMIDED
QID : 192 - Layer which saves life from harmful effects of UV radiations is known as

St oXe g dr Rafervott & gifeeras wemrat & Sftaet &1 S &, 39 T ST B
Options:

1) Ozone Layer

HST W’

2) Alpha Layer

3ol IRd

3) Gamma Layer

IMAT T

4) Infrared Layer

SHPRS AR

Correct Answer: Ozone Layer

3N R

Candidate Answer: Ozone Layer
3T R

QID : 193 - Which of the following state governments launched "Shaheed Gram Vikas Yojana" aimed at developing villages of freedom fighters in the state?

rAfaf@a # ¥ 5T T TR A TadTdT AATAT & IMal & [FhT & 3227 A "8G A Fhrg JST=Ar" dhr TATI=AT 2
Options:

1) Uttar Pradesh

ek uger

2) Bihar

IS

3) Jharkhand

FRES

4) Madhya Pradesh

LT geeT

Correct Answer: Jharkhand
FRES

Candidate Answer: Bihar

R

QID : 194 - Who first discovered that the earth revolves around the sun?

Y g fREeT IE Giel gt ¥ F TRt 3R TeR e 82
Options:

1) Newton

e

2) Dalton

STeced

3) Copernicus

EOENDET: ]

4) Einstein

Bl sen)

Correct Answer: Copernicus

FIRfART

Candidate Answer: Copernicus

FrRfAwT

QID : 195 - The 2018 FIFA World Cup is scheduled to take place in

2018 HIwr faed a0 & faw AuTRa e gl
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Options:
1)pIndia
gfsar
2) Argentina
Kicran
3) USA
kienica)
4) Russia
*H
Correct Answer: Russia
TH
Candidate Answer: USA
3T

QID : 196 - The famous Nabakalebara festival belongs to which of the following states?

9T Adshas] cAIgR RAFfaf@d & ¥ v o & 3icdela 3mar &2
Options:

1) West Bengal

qf¥es seTer

2) Odisha

3nf3em

3) Bihar

R

4) Jharkhand

FRES

Correct Answer: Odisha
snfsem

Candidate Answer: Odisha
IR

QID : 197 - Sharad Joshi Samman is awarded for

eRE Sl TEATT & forT geret e g
Options:

1) Satire & Essay

ey 3R freer

2) Cartoon

e

3) Social Service

FATS JaT

4) None of the option is correct.
&1g o Tashed &eY 781 81

Correct Answer: Satire & Essay
ey 3R fAeer

Candidate Answer: Social Service
HATS AT

QID : 198 - Who is the author of book "Khullam Khulla"?

G "Goold Yool & o Fiel 87
Options:

1) Navjot Singh Sidhu

Aot e g

2) Kapil Dev

FiT &F

3) Madhur Bhandarkar

YT HERAT

4) Rishi Kapoor

N FR

Correct Answer: Rishi Kapoor
N FR

Candidate Answer: Rishi Kapoor

Y PR

QID : 199 - Which of the following countries hosted the International Military Music Festival (IMMF-2017) in year 2017?

rafaf@a & 3 frg ger a1 av 2017 & IRTET A7 Td TARE (3MSTATHATE-2017) T TSI fHar?
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Options:
1) India
AR

2) China
e

3) Russia
*H

4) USA
AR
Correct Answer: Russia
H

Candidate Answer: USA
AR
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QID : 200 - Which country launched its "climate-smart snow leopard landscape management plan" in year 2017?

a¥ 2017 7 R & & O "FASHC-EATE T oUS ASEHT Helsidie Tl Y& 2

Options:

1) China

Gic

2) Nepal

qrer

3) Bhutan

Tt

4) India

HRT

Correct Answer: Nepal

Aqrer

Candidate Answer: China
e
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